Bose-Einstein condensation 1

particle density ©

1 1=1
n = ﬁgs/z(z)

thermal wavelength

\ h
A/  V2rmksT

T\_{

z—1

critical point reached for

5 = . 32 fixed
. ° 2rkpml[((3/2)V/N]2/3 N,V
—\ = 93/2(1) = 5(3/2) 3
%4 N h N.T

Ve = 2372) @rmkgD)o



Bose-Einstein condensation 2
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Bose-Einstein condensation 3
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Bose-Einstein condensation 4
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Bose-Einstein condensation 5

specific heat (fixed N)
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Bose-Einstein condensation

phase diagram
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Bose-Einstein condensation V4

superfluid “He bosonic atoms

BEC ™ supefluid == frictionless flow
rigidity of condensate
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Bose-Einstein condensation

ultra-cold atomic gases
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